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Seat No.: _____                                                      Enrolment No.______ 
   

GUJARAT TECHNOLOGICAL  UNIVERSITY 
Diploma  Sem. - II [Commercial Practice] Examination, June - 2009 

Subject Code: 320043 

Subject $ame: Financial Accounting –I 
Date:23 / 06 /2009                                         Time:  10:30 a.m.-1:00p.m. 

Total Marks: 70 

Instructions: 
1. Attempt all questions.  

2. Make suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks. 

Q-1  Prepare Bank-Reconciliation statement dt. 31
st
December, 2009 

based on the following given Reasons of difference in the book of 

Mr.Shah Bank Balance as per pass-book Rs.7000. 

14 

 (1) Cheques of Rs.5000 were deposited in the bank from these a cheque  

  of Rs.1250 was credited in pass-book in April-2009.  

 (2) Cheques of Rs.5300 were issued out of these cheques of Rs.3300/-  

  Were not presented for payment till 31-3-2009.  

 (3) Our customer has deposited Rs. 500 in our bank account, which is   

  not recorded in the cash-book.  

 (4) Rs1200 paid by bank for Insurance Premium was not recorded in  

  Cashbook  

 (5) Bank Charges of Rs.50 were recorded twice in cash-book.  

 (6) Total of the payment side of the pass-book is overcast by Rs.500/-  

Q-2 (A) As on dt.1-1-2009 Ram drew a bill on Shyam worth Rs.2000 for 3 

Months period. Shyam accepted and returned it on the same day.  

Ram endorsed the bill as on 4/1/09 in favour of his creditor 

Hanuman for payment of his debt amount of Rs.2050/-.  It was duly 

paid on maturity date. 

07 

  Pass necessary entries for the above transactions in journal of Ram.   

 (B) Explain the meaning of Lease Transactions and its advantages 07 

  OR  

 (B) Explain types of Lease Transactions 07 

Q-3  Raghuvir purchased a machine by Hire Purchase System.  The total 

cash price of the machine is Rs.15980/-.  The amount of Rs.4000/- is 

to be paid on delivery and three installments of Rs.6000/-, Rs.5000/- 

and Rs.2000/- respectively payable at the end of every year.  The rate 

of interest will be charged at 5% p.a.  Rate of depreciation will be 

calculated at 10% by straight line method. 

14 

  Pass journal entries for the above transactions in the books of 

Raghuvir 

 

  OR  

Q-3  OM Ltd. purchased a machine by Installment System.  The cash 

price is Rs.7450/-.  The amount of Rs.2000/- paid on delivery and 

the remaining amount in three equal installments of Rs.2000/- each 

payable at the end of the year. The rate of interest will be charged at 

5% p.a.  Depreciation will be calculated 10 %, by the Reducing 

balance method. 

14 

  Pass journal entries for the above transactions in the books of OM 

Ltd. 
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Q-4  Mr.Rajesh from Rajkot consigned the goods worth Rs.1,00,000  to 

Bhavesh of Bhavnagar and paid Rs.8,000/- for carriage and freight. 

Rajesh drew a bill of Rs.25,000/- which accepted by Bhavesh. The 

Bhavesh paid Selling expenses Rs.4,000/-. Bhavesh sold all the 

goods for Rs.1,40,000/-.  He is entitled to get 5% commission on 

sales. He settled his A/C by sending a bank draft for the outstanding 

amount. 

14 

  Prepare consignment A/C and Bhavesh’s A/C in the books of Rajesh  

  OR  

Q-4 (A) Explain:- General commission and Del cadre commission. 07 

 (B) Distinguish between Hire purchase and Installment system. 07 

Q-5  Prepare Baroda Branch A/C in the book of Head Office based on the   14 

  following information and find the profit or loss for the year ending    

  31
st
 December, 2008  

                  Particulars   Dt.01-01-2008   Dt.31-12-2008  

  Branch Stock                    30,000                40,000  

  Branch Debtors                   30,000                67,000  

  Branch Petty Cash          1,000                     ?  

  Goods sent to branch                                      1,50,000  

  Petty cash remitted to branch                    3,000  

  Cash Sales                 1,15,000  

  Credit Sales                 1,70,000  

  Branch Petty Expenses                    3,500  

  Cash received from debtors               1,20,000  

  Goods returned by debtors                   10,000  

  Discount allowed to Debtors                    2,000  

  Bad debts written off                     1,000  

  Goods returned by branch                             15,000  

  Brach Expenses:  

  Salary    Rs.20,000  

  Rent & Taxes    Rs.15,000  

  Other Expenses  Rs.  5,000    

                                                                                                 40,000  

  OR  

Q-5 (A) Distinguish between Dependent Branch and Independent Branch 07 

 (B) Explain:- Bill of Exchange 07 

�ચૂના: ૧ બધા જ �
નોના જવાબ આપવા ફર�યાત છે.  

         ૨ જ�ર જણાય �યા ંયથા યો ય ધારણાઓ બાધંવી.  

         ૩ જમણી બા% દશાવેલ )કડા �
નોના ,રા -ણ દશાવે છે ુ / /ુ ુ  

         ૪ �
નપ1ની 23ે� �ત આધાર4તુ ગણવી.          

����----૧૧૧૧  નીચે આપલા ે તફાવતના કારણો પરથી 7ીશાહનો .૩૧/૩/૨૦૦૯ના ૧૪૧૪૧૪૧૪ 
  રોજનો બકિસલકમળ તૈયાર કરો@ ે .    

  પાસAક Bજબ બકિસલકુ ુ @  �!.૭,૦૦૦/-  

 (૧) �!.૫,૦૦૦/-ના ચક બકમા ભરવામા આJયા હતાે @ ં ં , K પૈકL  

  �!.૧,૨૫૦/-નો એક ચક એિ�લે -૨૦૦૯મા પાસAકમા જમા થયો હતોં ુ ં .    

 (૨) �!.૫,3૦૦/-ના ચકે લખવામા ં આJયા હતા, K પૈકL �!.૩,૩૦૦/-ના  

  ચક તાે . ૩૧/૩/૨૦૦૯  �ધી બકમા વ�લાત માટ ર% થયા ન હતાુ @ ં ુ Q ુ .  

 (૩) આપણા 3ાહક આપણા બક ખાતામા �Q ે ં !.૫૦૦/-જમા કરાJયા, Kની  

  રોકડમળમા નRધ થયલ નથીે ં ે .   



 3 

 (૪) બક Sકવલ વીમા �ીમયમનાે Q ુ ે  �!.૧,૨૦૦/-ની રોકડમળમા નRધ ે ં   

  થયલ નથીે   

 (૫) બકે ચાજTસના �!.૫૦/- ની રોકડમળમા ે ં બ વાર નRધ થયલ છે ે ે .  

 (૬) પાસAકૂનો Vવક બા%નો સરવાળો �ુ !૫૦૦ વધાર ગણાયો છQ ે.   

����----૨ ૨ ૨ ૨  અ તા. ૧/૧/૨૦૦૯ના રોજ  રામ  Xયામ ઉપર �ે !.૨,૦૦૦/-ની 1ણની 

માસની Bદતની ZડL લખી K Xયામ ત જ [દવસ \વીકારLન પરતુ ં ે ે ે ેુ  કરL.  

રામ આ ZડL તાે ં ૂ .૪/૧/૨૦૦૯ના રોજ તના લણદાર હ]માનને ે ુ ે 

�1.૨૦૫૦/-ના દવા પટ Sકતના [હસાબ વચાણશરો કરL આપીQ ે Q ુ ે ે ે ે , K 

Xયામ પાકતી તારLખ Sકવી આપીે ે ુ . 

૭૭૭૭



 

  ઉપરોકત Jયવાહારોની રામના ચોપડામા આમનોધ લખોં .   

 બ  ભાડાપ`ા Jયવાહરનો (લીઝના) અથ સમVવી તના ફાયદાઓ / ે વણવો/  ૭૭૭૭



 
  અથવાઅથવાઅથવાઅથવા         

 બ
 ભાડાપ`ા Jયવાહરના  (લીઝના) �કારો સમVવો. ૭૭૭૭



 

����----



૩૩૩૩



  રbિવુ રQ એક ય1 ભાડ ખં Q રLદપcધિતએ ખરLદdુ,ં Kની રોકડ[કeમત 

�!.૧૫,૯૮૦/- છે. K ખરLદL વખત �ે !.૪,૦૦૦/-રોકડા SકૂJયા, તથા 

gમશ �!.૬,૦૦૦/-, ૫,૦૦૦/- અને �!.૨,૦૦૦/-એમ 1ણ હhતાઓમા ં

દર વષન 2ત Sકવવા/ ે ે ુ પા1 છે. Jયાજનો દર વાિષjક ૫% છે. ઘસારો 

૧૦% સીધી લીટLની પcધિતએ ગણવામા આવ છં ે ે . 

૧૪૧૪૧૪૧૪



 

  ઉપરોકત Jયવાહારોની રbિવરના ચોપડામા આમનોધ લખોુ ં   

  અથવાઅથવાઅથવાઅથવા  

����----



૩૩૩૩



  ઓમ લી. એક મશીનરL હhતા પcધિતથી ખરLદ છQ ે, Kની રોકડ [કeમત 

�!.૭,૪૫૦/- છે.  K ખરLદતી વખત �ે !.૨,૦૦૦/- Sકવલ છુ ે ે . બાકLના 

નાણા �ં !.૨,૦૦૦/- લખ 1ણ ે ે સરખા હhતામા દર વષન 2તં ે ે/  

Sકવવાુ ના છે.  Jયાજનો દર વાિષjક 5% છે.  ઘસારો ૧૦% ઘટતી જતી 

બાકLની પcધિતએ કાપવામા આવ છં ે ે .
 

૧૪૧૪૧૪૧૪



 

  ઉપરોકત Jયવાહારોની ઓમ લી.ના ચોપડામા આમનોધ લખોં .   

����----૪૪૪૪



  રાજકોટના રાKશ  ભાવનગરના ભાવશન �ે ે ે !.૧,૦૦,૦૦૦/-નો માલ 

આડતથી વચવા માટ મોકnયો અન �ે Q ે !.૮,૦૦૦/- ભાડા અન ]રૂે ના 

SકૂJયા.  રાKશ લખલ �ે ે 1.૪૦,૦૦૦/-ની ZડLૂં  ભાવશ \વીકારLે ે . આ ZડL ૂં

રાKશ �ે !.૫૦૦ ના વટાવ બકમા વટાવીે @ ં . ભાવશ �ે ે !.૪,૦૦૦/- વચાણ ે

ખચના SકJયા/ ુ . ભાવશ બધો માલે ે  �!.૧,૪૦,૦૦૦/-મા ંવચીે  દLધો. તન ે ે

વચાણ ઉપર ે ૫%ટકા કમીશન મળવાપા1 છે. તણે ે [હસાબ પટ ે Q

નીકળતી બાકLની રકમ બક oાફટથી@  મોકલી આપી. 

૧૪૧૪૧૪૧૪



 

  રાKશના ચોપડQ આડતમાલ ખાp અન ું ે ભાવશે ] ખાp તૈયાર કરોુ ં ુ ં   

  અથવાઅથવાઅથવાઅથવા  

����----૪૪૪૪



     અ સમજવો:- સાદL આડત અન આસામી આડતે  ૭૭૭૭ 
 બ
 ભાડ ખરLદ પcધિત અન હhતા ખરLદ પrિતQ ે  વsચનો તફાવત ે  ૭૭૭૭ 
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����----૫ ૫ ૫ ૫   નીચની  િવગતો ઉપરથી Btય ઓ[ફસના ચોપડ બરોડા શાખા] ે ુ Q ુ ં ખાp ુ ં

તૈયાર કરો અન તાે .. ૩૧મી [ડસuબરે , ૨૦૦૮ના રોજનો નફો કQ ]કશાન ુ

શોધો. 

૧૪૧૪૧૪૧૪ 

     િવગત        તા.૦૧/૦૧/૨૦૦૮      .૩૧/૧૨/૨૦૦૮  

  શાખાનો \ટોક     ૩૦,૦૦૦  ૪૦,૦૦૦  

  શાખાના દવાદારોQ    ૩૦,૦૦૦  ૬૭,૦૦૦  

  શાખાની પટા રોકડે        ૧,000   ?  

  શાખાન મોકલલ માલ ે ે                     ૧,૫૦,૦૦૦  

  શાખાન મોકલલ પટા રોકડ ે ે ે                       ૩,૦૦૦  

  રોકડ વચાણે             ૧,૧૫,૦૦૦  

  ઉધાર વચાણે             ૧,૭૦,૦૦૦  

  શાખાના પટા ખચાે /                ૩,૫૦૦  

  દવાદરો પાસથી મળલી રોકડQ ે ે           ૧,૨૦,૦૦૦  

  દવાદારોએ પરત કરલ માલ Q Q              ૧૦,૦૦૦  

  દવાદરોન આપલ વટાવ       Q ે ે                                ૨,૦૦૦   

  માડL ં વાળલ ઘાલખાધે                                         ૧,૦૦૦  

  શાખાએ પરત કરલ માલQ                 ૧૫,૦૦૦  

  શાખાના ખચા/:  

  પગાર    �!. ૨૦,૦૦૦   

  ભાv અન વુ ં ે ેરા  �!. ૧૫,૦૦૦  

  અwય ખચા/  �!.  ૫,૦૦૦    

                                                               ૪૦,૦૦૦  

  અથવાઅથવાઅથવાઅથવા  

����----૫૫૫૫ અ \વત1 અન પરત1 શાખા વsચનો તફાવત સમVવો ં ે ં ે  ૭૭૭૭ 
 બ ZડLુ ં  ૭૭૭૭



 

********* 


